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HEgZde golsg (~5/11)
Ak 1~2 ¢ a7 =28 25% 270,000 35% 234,000
H7H 1~2 & nsst=z JHEL 30% 238,000 40% 204,000
18 EYEut 112,000 96,000
o= 30% 40%
1~2 & O|2+7|& etdut 238,000 204,000
MER A 1~2 ¢ 7|&o|2Ht 30% 245,000 40% 210,000
WE =2 7|x gl Al BHotm 7
oy | BHEEZIZ R MENE 168,000 147,000
b x| 2 A 20% 30%
1~2 ¢ nsy 28t 288,000 252,000
1~2 & FOtRFIHE 288,000 252,000
olsHd 20% 30%
1~2 ¢ ROILSHE 7|E24 1 120,000 105,000
4 S 2~3 ¥ WA =% OFAH STEPT 30% 126,000 40% 108,000
1~2 & [E2eha M oib| 2 1 192,000 168,000
&3l 20% 30%
1~2 & (SO DS 2 MHTY 1 144,000 126,000
A= 1~2 ¥ (B Ao Y 1 20% 160,000 30% 140,000
Hh & 1~2 & g 62 Y THEY)) 20% 288,000 30% 252,000
1~2 ¢ (=< 7|28t 96,000 84,000
M 20% 30%
1~2 ¥ [BYnsE] 7|28 64,000 56,000
1~2 ¥ MY 7|28t 80,000 70,000
kb 20% 30%
1~2 ¥ [EHEoiel] 7|8t 64,000 56,000
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48s 1~2 & W tLH-ES 1 30% 245,000 40% 210,000
7|x0|2 MY, dald, o
[P =3 ~3 < o,
IPSES 1~3 o= saRof 30% 252,000 40% 216,000
1~4 9 M3 920 4 0|2 &9 536,000 469,000
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1~2 ¢ 7|28H AlFSte A8 s 2 184,000 161,000
dqxg 1~2 8 | 7|=X0l shEg WE7|(7|=0|28t 20% 280,000 30% 245,000
1~2 & o|lgd 200,000 175,000
292 20% 30%
1~2 & AH] E9 120,000 105,000
o3 1~2 & Li8da| gt 20% 464,000 30% 406,000
A%E 1~2 ¢ 712 W8gegt 20% 384,000 30% 336,000
sHEY 1~4 & LRSI L1l 20% 400,000 30% 350,000
OhH M 1~4 & =o|3tet ARCIE O|Et 20% 472,000 30% 413,000
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